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. A coat is on sale in a shop. There is a 25% discount on the coat. The original
price was €160. What i the sale price?

. There is a sale in a paint shop with 10% off all paints. The original price of a
10 Ubucket of paint was €40. What is the sale price?
. Special offer: 20% off all bags of coal bought this week. The original price of a
bag of coal was €15. Maebh bought 5 bags of coal in the sale.
(0 How much did she pay for the 5 bags in the sale?
) How much did she save in total?

. Sedn was working in a shop. He was asked to fill in the price tags to put on
items in a sale. Lok at the table and fillin the missing prices:
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. A bill totalled €45 and then VAT was added at 10%. How much VAT was
charged?

. Aine brought her car to the garage to have it serviced. The bill was
€150 +20% VAT. How much did Aine have to pay in total

. Grainne's washing machine stopped working. She called out a technician to fix
it. The bill was €60 + 25% VAT. How much in total did Grainne pay the
technican?

. (@) Which i better value for money: 10 apples for €2.40 or 20 apples for
€607

(b) Oisin bought 2 bags of 10 apples and Dara bought | bag of 20 apples.
How much extra did Oisin spend?

Orange juice is sold in 500 mi bottl
of orange juice and she wants to get the best value for money. 500 ml costs
€1.49, T Lcosts €3.00 and 3 | costs €4.35. If Susan gets the best value, how
much will she save by choosing the cheapest option?

. Special offer: 0.5 kg raisins €1.25, 3 kg raisins €1 1.95. Deirdre needs to buy 6 kg
of raisins. How much will she save by choosing the cheaper option?

. 1 €1 = ¥1.4, how many yen wil llana get for €207
£1=€1.28. George exchanged £100 for euro. How many euros did he get?

. €1 = 214.20. How many zloty will Dean ge for €507
=51.20. How many dollars is €45 worth?
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